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Homesteads: Per pupil spending divided by “property yield” = 
Equalized tax rate

Per pupil spending is $18,027; yield is $13,314

$18,027 / $13,314 = 1.354

Equalized tax rate divided by CLA = Actual tax rate

1.354 / 80.76% = 1.6766 (per $100 of  property value) is the 
actual homestead rate taxpayers see on the bill

The actual non-homestead rate in a town is the uniform 
statewide non-homestead rate divided by the town’s CLA

4



5



South Burlington Example

HS RateCLA

1.603093.28FY20

1.633789.92FY21

*Reappraisal as of 4/1/21*

1.3249112.03FY22

1.2953100.99FY23
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South Burlington Example
Gross TaxesListed ValueHS RateCLA

$              5,611 $          350,000 1.603093.28FY20

$              5,718 $          350,000 1.633789.92FY21
*Reappraisal as of 4/1/21*

$              5,962 $          450,000 1.3249112.03FY22

$              5,829 $          450,000 1.2953100.99FY23
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Yields and Average Equalized Rates: FY22 – FY24

FY24 
(Forecast)

FY23FY22

$15,479$13,314$11,317Homestead Yield

$1.31$1.39$1.52Avg. Homestead Equalized 
Rate
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South Burlington Example

Maximum Taxes 
Covered $400,000 Equalized RateHS RateCLA

$                 5,981 $     400,000 $                  1.4953 1.603093.28FY20

$                 5,876 $     400,000 $                  1.4690 1.633789.92FY21

*Reappraisal as of 4/1/21*

$                 5,937 $     400,000 $                  1.4843 1.3249112.03FY22

$                 5,232 $     400,000 $                  1.3081 1.2953100.99FY23 10
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South Burlington Example
Net TaxesCredit**Income Tax*LimitGross Taxes

$              1,215 $         5,981 $          5,611 FY20

$       1,322 $       4,396 $              1,195 $         5,876 $          5,718 FY21
*Reappraisal as of 4/1/21*

$       1,439 $       4,523 $              1,220 $         5,937 $          5,962 FY22

$       1,112 $       4,717 $              1,090 $         5,232 $          5,829 FY23

??? $       4,142 FY24

*Assume constant income of  $50,000 per year

**The credit a household earns in one year is applied to the following year’s bill
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